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Which of these rocks is metamorphic: granite, limestone or slate?
Slate.

What part of an Ottoman palace was reserved for women?
Harem.

In Britain, a Marmite jar is made in the shape of what: cooking pot,
beehive or barrel?

Cooking pot.

Which actor has played Doctor Who, Professor Van Helsing, Victor
Frankenstein and Sherlock Holmes?

Peter Cushing.

In which game might you have a ‘double belly buster’: Dominoes, Poker
or Operation?

Poker.

Orson Wells played the Bond villain in what 60s film?

Casino Royal.

Which of these was the name of a city in both Ancient Egypt and
Ancient Greece: Memphis, Luxor or Thebes?

Thebes.

Born in 1970, what US racehorse was nicknamed ‘Big Red'?
Secretariat.

Despite a campaign to save it, at what London station was a famous
arch controversially demolished in the 1960s: Paddington, Waterloo or
Euston?

Euston.

Sid's Café featured in what long-running BBC sitcom?

Last of the Summer Wine.
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Which of these kings lived during the Hundred Years’ War and the
Wars of the Roses: Edward VI, Henry VI or George VI?

Henry VI.

The Mayan calendar famously predicted the world would end in what
year?

2012.

The Barley Mow pub in Bonsall, Derbyshire is the venue for the
world championships in what: bog snorkelling, hen racing or worm
charming?

Hen racing.

Harold McMillian major 1962 cabinet reshuffle is known by what
nickname?

Night of the Long Knives.

Satis House is the home of which Dickensian character: Miss Havisham,
Mrs Gamp or Mr Micawber?

Miss Havisham.
Which famous singer drove a truck for Crown Electric?
Elvis Presley.

In Judaism, Shiva is a period set aside for what activity: fasting,
reflection or mourning?

Mourning.
Dame Kelly-Holmes reached what rank in the army?
Sergeant.

What type of creature is the Australian squirrel glider: bird, rodent
or marsupial?

Marsupial.

C:/RomillyQuiz2025 — 9" February




QUESTION 20

The Titanic sank
Archduke Franz Ferdinand Killed
BBC's first broadcast
The Wall Street crash

D-Day landings
Cuban Missile Crisis
First man on the moon
Falkands war
Fall of the Berlin wall

4 Nelson Mandela released from prison
DO NOT WRITE ANY ANSWERS ON THIS SHEET

QUESTION 20 ANSWERS
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Identify the year the following events happened in the 20™ century?

1912

1914

1922

1929

1944

1962

1969

1982
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1989
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1990
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In physics, what is the lowest point of a wave called?

Trough.

In the film ‘Spice World" who drove the bus?

Meat Loaf.

The Orca is the largest member of what family?

Dolphin.

The name of what vegetable is from the Latin for ‘large pearl’?
Onion.

Used by many Kings of England, what name comes from the Greek for
‘farmer’?

George.

Which Muppet owned a dog called Foo-Foo?

Miss Piggy.

Jeremy Corbyn was first elected an MP in which decade?
1980s.

How many dice are used in the game Yahtzee?

Five.

‘Old School’ is a style of shoe by which skate ware brand?
Vans.

Who would come first if everyone in the Bible was listed
alphabetically?

Aaron.
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The island of Aruba lies 15 miles off the coast of which South
American country: Venezuela, Brazil or Colombia?

Venezuela.

What search engine’s is an alternative term for a red panda?

Firefox.

Water-cum-Jolly is a dale in what National Park: the New Forest,
the Lake District or the Peak District?

The Peak District.
Third place in a Formula One race is worth how many points?
Fifteen.

Which of these describes the highest frequency sound waves:
hypersonic, supersonic or ultrasonic?

Hypersonic.
‘First Time-Gardener’ was a 2015 book by which singer?
Kim Wilde.

Which of these Vietnam War films was directed by an actual veteran
of the conflict: Full Metal Jacket, Platoon or Apocalypse Now?

Platoon. (Oliver Stone)

William Alexander named his crisp company after what variety of
potato?
Golden Wonder.

In linguistics, ‘code-switching’ is usually defined as using more than
one of what in the same sentence: tense, noun or language?
Language.

Name the ten capital cities of EU member countries that are closest
to Bern?

Luxembourg City, Paris, Brussels, Ljubljana, Prague, Amsterdam,
Zagreb, Vienna, Rome & Bratislava.
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